10CS63

(05 Marks)
(05 Marks)

50, will be treated as malpractice.

c. Draw the transition, dlagram for relation operators inC:<,>,<=,>=,== 1=,
: (05 Marks)
d. (05 Marks)
2 a
b.

D——>T id ; D|
T — BC | Structid {D} &

B — int | float | char

C =¥ [num] C| e.

the parsing table for thie given grammar.

E»TEW?ﬁ@TEWe]F»ﬂ@ (08 Marks)

3 a. Construct LR(O) automaton using CLOSURE and GOTO ﬁmctlons for the grammar given
below. Cheok whether the grammar is in SLR. Justrfy your answer.

S%*Mm
R —L. 4”‘ (08 Marks)

( r31fuatlons in whrch’thcse conflicts occur. (04 Marks)
c**Write down the algonthms for const:ructmg SLR parsing table and LR parsing for the given
input. 4 (08 Marks)

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

4 a
b.
(10 Marks)
c. (04 Marks)

PART-B

5 a Explain the corroept of Syntax directed definition and translation. Define synthesized and

mhented attributes. Mention the types of attnbutes used in bottom up and top down parsers.
(08 Marks)
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same using the given grammar.
T—->BC B - int|float
C—>[num]C|e. (06 Marks)
a. Demonstrate the concept of thre ‘address code, quadrup esy Translate the arithmetic
expression f=a— (b +c) * d »)i) Quadruples u) Tnples ii1) Indirect triples.

y » (08 Marks)
b. Describe the Syntax directed: Aranslatlon for switch stat"'ment ‘ (08 Marks)
c. Justify the role of cointr“ §tatements in programmmg"“language. Write down the Syntax
directed deﬁnltlon for ﬂow of control statements. = (04 Marks)

¥ 4
a. Describe the stri of activation record w1th neat diagram. (05 Marks)
b. List out the ﬁ1nct10ns and properties of memory manager, a subsystem of heap management.

(05 Marks)

ﬁndmg 5™ Fibonacci number.
int fib (int n)
{if(n<2) retum ;

oA
»»'\M'.ALO‘"‘“ 7

N ——

(10 Marks)
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